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. Factorize (6x2 —13x+5)

(i) (2x=1)(3x=5) (ii) (2x—=1)(6x=5) (iii) (2x—=1)(2x-=5) (iv) (2x=1)(=5) (v) (2x—-1)(4x-5)

. Factorize(9a%—6ab+b?)
(i) (=3a+4b)(=3a+3b) (i) (=3a+b)(=3a+b) (i) (=2a+b)(=2a+b) (iv) (—4a+b)(—4a+b)
(V) (=3a—b)(=3a-b)

. Factorize(16a2+24ab+9b2)
(i) (=4a-3b)(—4a—-3b) (ii) (=5a—-3b)(—5a—-3b) (iii)) (=3a—3b)(—3a—-3b) (iv) (—4a—b)(—4a)
(v) (—4a—-6b)(—4a—-6b)

. Factorize( 9a2 —25b2)

(i) (=2a=5b)(=2a+5b) (ii) (—4a-5b)(—4a+5b) (iii)) (=3a-5b)(=3a+5b) (iv) (-3a-2b)(-3a+7b)
(v) (-3a—8b)(—3a+2b)

. Factorize(a2+4ab+4ac+4b2+8bc+4c2)

(i) (=2a—-2b—-2c)(—2a-2b-2c) (i) (—a—4b—-2c)(—a—-5b—-2c) (iii) (—a—-2b-2c)(—a—2b-20)
(iv) (—a=-2c¢c)(—a—-2c) (v) (=2b-2c)(—2b-20C)

. Factorize (7x+8y)2+ 2(7x+8y)(4x+6y) + (4)(+6y)2

() (11x+140)°2 (i) (12x+140°2 (i) Bx+2)° (V) (=3x-p)2 (v) (Tx+8))(4x+6Y)

. Factorize (2x+5))° — 2(2x+5))(9x+7)) + (9x+71)°

() (11x+120)2 (i) (=6x=2))2 (i) (=7x=21)% (V) (Bx+21)2 (v) (2x+51)(9x+7)

. Factorize a2 b2 - b2 c2

(i) (ab+bc)(ab+bc) (i) (ab—bc) (ab—bc) (i) (ab+bc) (ab—bc) (V) (ac+bc) (ac—bc)
(V) (ab+bc) (ac+bc)
. Factorize 81 a3 — 64a

(i) (9a+8)(9a—8)a (i) (9a+8)(9a%2+8)a (ii) (9a%+8)(8a—9)a (iv) (9a—8)(9a%+8)a

(V) (9a+8)(8a-9) a
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Factorize(xz—lOO)

(i)

(x=25) (x+4) (i) (x+10) (x+10) (i) (x—=10)(x—10) (iv) (x+10)(x—10) (V) (x+25)(x—4)

Factorize(9x2—16)

(i)

(3x+4) (3x+4) (i) (3x+4)(3x—4) (iii) (3x=4)(3x=4) (iv) (3x=2)(3x+8) (V) (3x+2)(3x-8)

Factorize ( 36x2 —64y2)

(i)

(6x+8y) (6x—8y) (i) (6x+16y)(6Xx—4y) (iii) (6Xx—8y)(6X—=8y) (iV) (6X—16)) (6X+4Yy)

(V) (6x+8y) (6x+8y)

Factorize (k*-256)

(i)

(k+4) (k=4) (K +16) (i) (k>+16) (k>=8) (iii) (k+4) (k+4)(k—=4) (V) (k+4)(k—4)(k*>-8)

(V) (k+4)(k—4)(k-4)

Factorize (a+b)2 - C

(i)

2

(a+b-c)(a=b—-c) lii) (a+b+c)(a-b+c) (i) (a+b+c)(a+b-c) (V) (a+b-c)(a—b+c)

(V) (a+b+c)(a—b-20)

Factorize a2

(i)

2

- b2 - 2%d% 4 PP

(a+ b)(a—b)(b+ d)(c—d) (i) (a+ b)(a—c)(c+ d)(c—d) (i) (a+ b)(a— b)(c+ d)(b-d)

(iv) (a+ b)(a—b)(c+ d)(c—4d) (v) (a+)a— )b+ d)(b- d)

Factorize (a

6—b6)

(i) (a=b)(a%2+ab—b2)(a+b)(a%2—ab+b2) (i) (a—b)(a%+ab+b?)(a+b)(a?—ab—b?)

(iii) (a—b) (a2 —ab+b?)(a+b)(a%2—ab—b2) (iv) (a—b) (a2 +ab+b?)(a+b)(a%+ab—b?)

(v) (a—b) (a%+ab+b?)(a+b)(a%—ab+b?)

3

Factorize (a—b)3 + (b=~ + (c—a)

(i)

3

3(a—b)(b—-c)(c—a) (i) 3(a+b)(b—c)(c—a) (iii) 3(a—b)(b+c)(c—a) (iv) 3(a—-b)(b—c)(c+a)

(v) 3(a—b)(b+c)(c+a)

3

Factorize (2a—4b)3 + (4b-30)7 + (3c—2a)3

(i)

(iv

3(2a—4b)(4b—-3c)(3c—2a) (ii) 3(2a+4b)(4b—-3c)(3c—2a) (iii) 3(2a—4b)(4b-3c)(3c+2a)

) 3(2a—4b)(4b+3c)(3c+2a)

3

Factorize (11a—8b)° — (5a—35)° —

(i)

(iv

3(5a—-3b)(6a+5b)(11a—-8b)
) 3(5a-3b)(6a-5b)(11a-8b)

(v) 3(2a—4b)(4b+3c)(3c-2a)

(6a—55)>

(ii) 3(5a+3b)(6a+5b)(—a+2b) (iii) 3(5a+3b)(6a—5b)(11a—8b)
(v) 3(5a+3b)(6a+5b)(11a—8b)



20. Factorize (ax+ by) 2 (ax— b,V) ?

() 4(ax)2(by)2 (i) 2(ax)2(by)2 (ill) daxby (iv) 2axby
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